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Prince Mikasa CUP 31th All Japan Dancesport Championship 2011
The Result of Standard Final

Solo Dance(Tango)

TES PCS(Original) Deduction Decision Total
1 2 3
piy tan) ) Ps) [CP1 pg| Delayed| Early |05 of|Pancingp, ooy e | G Deducti|  Total
Posture, . PS. alance elaye: arly Isconti| ime Or eaucti otal
Balance, 3:::2;& Mo";':se‘zt t© | Partnering kil zrf;h;z:i:izmn loss Fall start | finish °°T‘”e°‘ otl.lt of nuation Error Discontif Violatio TES Pcs on points
No |Judge Base Value Base Value Base Value Coordination fon ime nuance n
A 6.05 7.80 7.80 550 550 O 0 0 0 0 0 0 0 0 0
B s . 5 6.05 6.50 6.50 550 500 o 0 0 0 0 0 0 0 0 0
c 715 8.45 8.45 6.50 650 © 0 0 0 0 0 0 0 0 0
D [Bv=sliaD=0] | [BV=5](GD=0] | [BV=5lGD-0] 6.60 7.80 8.45 6.00 600| 0 0 0 0 0 0 0 0 0 0
6 I IWS=0I[HPE=0] | (WS=—1]IHPE=0] | [WS=0I[HPE=0] 6.60 845 7.80 6.00 600| © 0 0 0 0 0 0 0 0 o | 1400 | 3451 | 000 | 4851
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] - : : : - : : - -
F [FPE=0] [FPE=0] [FPE=0] 6.60 7.80 7.80 6.00 650 © 0 0 0 0 0 0 0 0 0
G 6.60 8.45 8.45 6.00 600 © 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 4.00 5.00 6.49 | 8.06 | 8.06 | 5.90 | 600] o [ o [ o [ o [ o o] o T o1 o o
A 7.15 8.45 8.45 6.50 650 0 0 0 0 0 0 0 0 0 0
B . a5 s 7.70 9.10 9.10 6.50 650 © 0 0 0 0 0 0 0 0 0
c d 7.70 845 9.10 6.50 700| o 0 0 0 0 0 0 0 0 0
[BV=5][GD=0] | [BV=5][GD=0] | [BV=5][GD=0]
0 P [WS=OIHPEL0] | [WS=OTTHPELO] | [WS<oTTHPE=0] 715 845 8.45 6.00 650 o 0 0 0 0 0 0 0 0 0
E TWE=OIINV=0] | (WF==0.51INv=0]| [WF=0IINV=0] 715 845 8.45 6.50 650 o 0 0 0 0 0 0 0 0 o |l 1450 | 37.09 | 0.00 | 51.59
F - . TEp - - 2 7.15 8.45 845 6.00 650| o0 0 0 0 0 0 0 0 0 0
[FPE=0] [FPE=0] [FPE=0] : : ! : g
G 715 845 8.45 6.00 650 o 0 0 0 0 0 0 0 0 0
TS 0 i 0 i 0 i 0 i 0 i
Decision 5.00 450 5.00 7.26 | 8.45 | 858 | 6.30 | 650] 0 | 0 [ o | o T o ] o [ o ] o T o1 o
A 6.05 7.80 7.80 6.00 600 O 0 0 0 0 0 0 0 0 0
B 6.60 7.80 715 550 600 © 0 0 0 0 0 0 0 0 0
£ [Bv—s]s[GD—o] [BV-S]S[GD-O] [BV-5]4[GD-0] LIS at 150 850 foo} o g g g g g g g g g
a P [WS=OTHPEL0] | [WS=OTTHPESO] | WSt TTHPE=0] 4.95 5385 6.50 450 500| o 0 0 0 0 0 0 0 0 0
E e A _ - o 5.50 7.15 715 550 500| o 0 0 0 0 0 0 0 0 o | 1400 | 3253 | 000 | 4653
F [WESOIINV=0] | WESOIINV=0] | [WF=OTINV=0] 6.60 8.45 845 6.00 650| o0 0 0 0 0 0 0 0 0 0
[FPE=0] [FPE=0] [FPE=0] : - ! - g
G 5.50 715 715 550 550 o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision I ] X 6.05 767 741 5.70 570] 0 0 0 0 0 0 0 0 0 0
5.00 5.00 4.00 [ [ [ [ [ [ [ | [ | [ | [
A 6.05 6.50 7.15 5.00 550] 0 0 0 0 0 0 0 0 0 0
B . 5 . 6.60 845 8.45 6.00 600 o© 0 0 0 0 0 0 0 0 0
c 715 845 8.45 6.50 650 © 0 0 0 0 0 0 0 0 0
[BV=5][GD=0] | [BV=5][GD=0] | [BV=5][GD=0]
55 [P [WS=OIHPE0] | [WS=OTTHPESO] | [WSetTTHPES0] 6.05 7.15 7.80 6.00 550 © 0 0 0 0 0 0 0 0 0
E TWE=OIINV=0] | IWE=oIINv=a] | [WF=0liNV=0] 715 7.80 7.80 6.50 600 o© 0 0 0 0 0 0 0 0 o |l 1400 | 3307 | 000 | 47.07
F - . - B - 2 6.60 7.15 7.15 5.50 500| © 0 0 0 0 0 0 0 0 0
[FPE=0] [FPE=0] [FPE=0] : : : - :
G 6.05 6.50 6.50 550 500 o 0 0 0 0 0 0 0 0 0
TS 0 i 0 i 0 i 0 i 0 i
Decision 5.00 5.00 4.00 6.49 [ 7.41 7.67 | 5.90 | 5.60 0 T o T o[ o T o T oT oTlT oTT o T T o
A 6.60 7.80 8.45 6.00 550 0 0 0 0 0 0 0 0 0 0
B 5.50 6.50 585 5.00 500| o 0 0 0 0 0 0 0 0 0
c [Bv= 5‘3-[56 o0] [BV-S]S[GD-O] [BV-5]4[GD-0] 6.60 7.80 7.80 5.50 600| 0 0 0 0 0 0 0 0 0 0
6 |2 [WS=OTHPEL0] | [WS=OTTHPESO] | WSt TTHPE=0] 6.05 715 7.80 550 500| o 0 0 0 0 0 0 0 0 0
E > — _ - I 4.95 6.50 6.50 5.00 500| o0 0 0 0 0 0 0 0 0 o | 1350 | 3095 | 000 | 44.45
F [WF=-0S]INv=0]( [WF=0IINV=0] | [WF=0lINv=0] 6.05 6.50 7.80 5.50 600| © 0 0 0 0 0 0 0 0 0
[FPE=0] [FPE=0] [FPE=0] : : : - :
G 6.05 715 6.50 5.00 500| o 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 4.50 5.00 4.00 6.05 [ 7.02 | 7.28 | 5.30 | 5.30 0 T oJT ol oT oT oTlT oTlT oT oT o0
A 5.50 715 6.50 5.00 500] O 0 0 0 0 0 0 0 0 0
B 5.50 5.85 5.85 5.00 500 o 0 0 0 0 0 0 0 0 0
c e &i} - [BV-5]5[GD-0] [Bv-5]4[GD—01 6.05 7.80 7.15 5.50 600| 0 0 0 0 0 0 0 0 0 0
e |° (WS=0]THPE=0] | [WS=0][HPE=0] | [WS=—1][HPE=0] 550 840 L1s 25 T A o
E o - iy - Bl 6.05 7.15 6.50 5.00 550 © 0 0 0 0 0 0 0 0 0 | 1350 | 29.49 | 000 | 4299
F [WF=-0S]INv=0] | - [WF=OIINV=0] | [WF=0lINv=0] 6.60 6.50 6.50 6.00 550| o0 0 0 0 0 0 0 0 0 0
[FPE=0] [FPE=0] [FPE=0] 1 . ] ! !
G 6.05 6.50 5.85 5.00 500 o© 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 4.50 5.00 4.00 5.83 | 6.76 | 6.50 | 5.20 | 520] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o
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